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Calculus 2.
Final Exam

Date: Monday 18 /2 /1434 H.
Time: from 08:00 to 10:00.
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Q1.

[secxtanx dx =tanx + ¢

(A) B)

TRUE FALSE
Q2.

coshx —sinhx = e™*

(A) B)

TRUE FALSE
Q3.

L_x dx =0
J_l T+xt 7

(A) B)

TRUE FALSE
Q4.

If f'(x) = 5x* — 12x + 13, f(1) = 12 then f(x) =

(A)

f(x) =x°—6x%2+13x + 4

(B)

f(x) =x°+6x*+13x — 3

(©)

f(x) =x°—6x2+13x+3

(D)

f(x)=x5—6x2+13x—4




Q5

11 10
If ZB=ZL', then B =
(A) (B) (©) (D) (E)
5 10 11 55 12

Q6.
If fosf(x) dx =10 and fosg(x) dx = 8, then fos [59(x) — 4f(x) + 2x] dx =
(A) (B) (©) (D) (E)
10 8 6 7 25
o7.
If y =sinh(x®), theny’' =
(A) (B) (€) (D)
x* cosh(x>) 3x sinh(x®) 5x* cosh(x®) 2x?% sinh(x3)
Q8.
If g(x) = flxtan_l(t2 +t) dt, then g'(x) =
(A) (B) (€) (D)
(2t+ Dtan"1(t2 + 1) tan"1(x%2+x) | sin}(x?+x) [tan"1(t%+ 1)




fol 4*dx =
(A) (B) (®) (D)
In 4 3 8 =
3 In 4 In4 In 4
Q10.
1 1
fO 1+x2 dx =
(A) (B) (®) (D)
2T T A T
3 4
Q11.
[(cscx)? dx =
(A) (B)
cot(x) + ¢ x + cot(x)
(©) (D)
sec(x) +x —cot(x) + ¢
Q12.
[x(x?+ 1)°dx =
(A) (B) (©) (D)
x(x? + 1)5 (x2 +1)° (x2 +1)° (x2 +1)°
0 ¢ 6 ¢ 20 ¢
Q13.
tan~1x
f 1+x? =
(A) (B) (©) (D)

1,
S (tan 1x)2+c

(tan"1x)? + ¢

1,
> (cot 12 +¢

1
5 (tan"1x)% + ¢




014,
[xcosx dx =

(A) (B)

—x cos(x) + sin(x) + ¢ —x cos(x) —sin(x) + ¢

(©) (D)

—x sin(x) + cos(x) + ¢ x sin(x) + cos(x) + ¢
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Q15.
[xcosx dx =
(A) (B)
—x cos(x) + sin(x) + ¢ —x cos(x) —sin(x) + ¢
©) (D)
—x sin(x) + cos(x) + ¢ x sin(x) + cos(x) + ¢




Q16.
[tan™'x dx =

(A) ) (B) .
—1 2
xtan™ x —2In(1+x%) +¢ xtan‘1x+§ln(1+x2)+c
(C) . (D) )
—1 3
xtan_lx—zln(1+x2)+c x tan x—zln(1+x)+c
sy e Jsanlladle Cuad O sy 516 a8 Dl 5 S5 58 17 68, Jlsedl @
017.
[tan™1x dx =
(A) ) (B) .
—1 2
xtan™ x —2In(1+x%) +¢ xtan‘1x+§ln(1+x2)+c
(C) : (D) )
-1 3
xtan_lx—zln(1+x2)+c x tan x—zln(1+x)+c
Q18.
[ sec®x tanx dx =
(A) (B)
(secx)*
4 secx +¢ (tan x)°
5
(C) (D)
(secx)>
5 (secx)?

+ secx + ¢




Q19

[ e -
x2+9
(A) (B)
1l | x2+9+x|+
x24+9 x —§n 3 3 ¢
1 —
n | 3 +3|+C
(®) (D)
11 x24+9 x N 1l x2+9+x N
3 zlte 3= glte
s e Jpaalladle ot G g 519 o) Jlpuall 1SS 58 20 o8, Jsad) @
Q20
[
X =
x%2+9
(A) (B)
11 | x2+9+x|+
x2+9 «x —gon 3 31 Te
1 —_
n | 3 +3|+c
(C) (D)
11 x24+9 x N 1l x2+9+x N
3 3lte 33 zlte




Q21.

(x3-8) _
[ o dx =
(A) (B)
§x3—x2—4x+c §x3+x2+4x+c
(©) (D)
§x3—x2+4x+c x°—x? +dx+c
s e Jgpanlladde st g cang 521 ) Jisadl 5 S5 58 22 48, JIsud) @
Q22.
x3-8
[ - dx
(A) (B)
Zx3—x?—4x+c §x3+x2+4x+c
(©) (D)
§x3—x2+4x+c x° —x* +4x +c
023
J(cos‘*x — sin*x) dx =
(A) ) (B)
g(sinx)S —g(cosx)s Y sinxcosx + ¢
(C) (D)

1
X + Esin(Zx) +c

1
X + Zcos(Zx) +c




Q24.

[xVx+1 dx=
(A) 5 3 (B) 5 3
S+ DI+ (x+Di+c HCEVEEETCR DER
(C) 5 3 (D) 5 3
(x+Dz+>(x+1Dz+c S+ DI+ (x+ D2+
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Q25.
[xvx+1dx=
(A) (B)
2 5 2 3 2 5 2 3
S+t o(x+1)2+c cx+D2—c(x+1)z+c
©) (D)
5 2 3 2 5 1 3
(x+1)z2+-(x+1)2+c cx+ D+ o(x+1)2+c
Q26.
flooxe_xzdx:
(A) (B)
1 Divergent
2
(®) (D)
€ 1
2 2e

10




Q27.
ex

f (e*+4)(e*+3)

(A) (B)

In(e* +4) —In(e* +3) + ¢ In(e*+3)—In(e*+4)+c

(C) (D)
In(e* +3) —In(e*+2) + ¢ In(e* +4)+In(e*+3)+ ¢

s 2 e Jpaalladde cuad (g 527 &8, JIsdl ) S5 58 28 8, JIsd) @

Q28.
f (e*+4)(e*+3) x =
(A) (B)
In(e* +4) —In(e*+3)+c In(e* +3) —In(e* +4) + ¢
(©) (D)
In(e* +3)—In(e*+2)+c In(e* +4) +In(e*+3)+ ¢
Q29.
cosh(0) =
(A) (B)
0 1
(C) (D)
-1 1
2

11




Q30.

[ J1+sin(2x) dx =

(A) (B)

2 3 '
= (1+ sin(22))2 + ¢ sin(x) + cos(x) + ¢

(©) (D)

2 . 3 —cos(x) + sin(x) + ¢
3 (1 —sin(2x))z +c
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Q31.
[ J1+sin(2x) dx =
Ol 3 ®
= (1 + sin(2x))Z + ¢ sin(x) + cos(x) + ¢
(C) , . (D) _
= (1 — sin(2x))2 + —cos(x) + sin(x) + ¢
Q32.
The length of the curve y = coshx; where 0 <x <1 is
(A) (B) (®) (D)

cosh(2) sinh(1) cosh(1) sinh(2)

12




Q33.
The area of the region enclosed by the curves y = x? and y = 2x —x?, is

o0&
06
04

0z

(A) (B) (©) (D)

13 B




Q34.
The volume of the solid generated by rotating about the x-axis the region
bounded by the curves y = x3 and the line y = 1, where x >0, is

0.6

04

(A) (B) (©) (D)
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Q35.
The volume of the solid generated by rotating about the x-axis the region
bounded by the curves y = x3 and the line y =1, where x >0, is

/




Q36.
By using cylindrical shells method , The volume of the solid generated by

rotating the bounded region by the curves y = x and y = x?2 about the line x = 2,
IS

(A) (B) © (D)

3 4 12

NS
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Q37.
By using cylindrical shells method , The volume of the solid generated by

rotating the bounded region by the curves y = x and y = x?2 about the line x = 2,
IS

(A) (B) (€) (D)

N

w

S
I

15 B




Q38.

The surface area obtained by rotating thearcy = v9 —x?, 0 <x <1 , about the

X — axis IS

(A) (B)
61

NS

(©)

3

(D)
12w
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Q39.

The surface area obtained by rotating thearcy =v9 —x?, 0 <x <1 , about the

X — axis IS

(A) (B) (€) (D)
61 T 31 127
2
Q40.
[ cos(3) cos(7x) dx =
(A) | (B) | |
1 [cos(lox) _ sm(4x)]_|_C sin(10x) n sm(4x)]_l_C
2 10 4 10 2
(C) (D)
sin(3)sin(7x)

7

cos(3)sin(7x)
~ +c

16




